Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards?

. S . .1
Total Male Female 18-34 35-54 55+ Post Sec The The Liberal [ The New | The Bloc | The Green The Or some | Would not
Conservativ| Party Democratic| Quebecois Party People's |other party|vote/None/| Know/Not
e Party Party (NDP) (B8Q) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N o P Q R
Base: All Respondents (unwtd) 1000 441 543 195 408 397 31 162 390 417 270 436 102 53 19 6 - 35 79
Base: All Respondents (wtd) 1000 478 506 273 340 387 146 276 335 243 297 408 84 52 28 10 - 46 75
297 161 128 70 98 130 57 69 115 56 297 - - - - - - - -
The Conservative Party 30% 34% 25% 25% 29% 33% 39% 25% 34% 23% 100% - - - - - - - -
B *x Gl KLMR * * ** ** ** *
408 191 213 104 119 185 46 106 132 124 - 408 - - = = = = =
The Liberal Party 41% 40% 42% 38% 35% 48% 32% 38% 39% 51% - 100% - - - - - - -
D *ok GH JLMR * * *k *k *k *
84 31 52 28 37 19 15 14 29 26 - - 84 - - - - - -
The New Democratic Party (NDP) 8% 6% 10% 10% 11% 5% 11% 5% 9% 11% - - 100% - - - - - -
E *x G JKMR* * ** ** ** *
52 34 18 9 25 18 11 16 16 9 - - - 52 = = = = =
The Bloc Quebecois (BQ) 5% 7% 4% 3% 7% 5% 7% 6% 5% 4% - - - 100% - - - - -
B *ok * JKLR* *k *k *k *
28 12 16 9 7 12 14 3 6 5 - - - - 28 - - - -
The Green Party 3% 2% 3% 3% 2% 3% 9% 1% 2% 2% - - - - 100% - - - -
*x * * ** ** ** *
10 6 4 3 5 3 5 1 1 - - - - = 10 = = =
The People's Party of Canada 1% 1% 1% 1% 2% * 2% 2% * * - - - - - 100% - - -
*ok * * *k *k *k *
46 23 22 28 12 6 - 31 8 7 - - - - - - - 46 -
Would not vote/None/Would spoil ballot 5% 5% 4% 10% 4% 2% - 11% 2% 3% - - - - - - - 100% -
DE *x HI * * ** ** ** *
75 21 53 22 37 15 - 33 28 14 - - - - - - - - 75
Don't Know/Not sure 7% 4% 10% 8% 11% 4% - 12% 8% 6% - - - - - - - - 100%
A E *ok 1 * * >k *% >k JKLM *
1000 478 506 273 340 387 146 276 335 243 297 408 84 52 28 10 - 46 75
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100%




Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards?

. S . .1
Total Male Female 18-34 35-54 55+ Post Sec The The Liberal [ The New | The Bloc | The Green The Or some | Would not
Conservativ| Party Democratic| Quebecois Party People's |other party|vote/None/| Know/Not
e Party Party (NDP) (B8Q) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N o P Q R
Base: Decided Voters Leaners (unwtd) 886 405 468 163 349 374 31 126 347 382 270 436 102 53 19 6 - - -
Base: Decided Voters Leaners (wtd) 879 434 431 223 291 366 146 212 299 222 297 408 84 52 28 10 - - -
297 161 128 70 98 130 57 69 115 56 297 - - - - - - - -
The Conservative Party 34% 37% 30% 31% 34% 35% 39% 32% 38% 25% 100% - - - - - - - -
* *x | KLM * * ** **
408 191 213 104 119 185 46 106 132 124 - 408 - - - - - - -
The Liberal Party 46% 44% 49% 47% 41% 51% 32% 50% 44% 56% - 100% - - - - - - -
* D *ok H M * * *k *k
84 31 52 28 37 19 15 14 29 26 - - 84 - - - - - -
The New Democratic Party (NDP) 10% 7% 12% 13% 13% 5% 11% 6% 10% 12% - - 100% - - - - - -
£* E *x JKM* * ** **
52 34 18 9 25 18 11 16 16 9 - - - 52 - - - - -
The Bloc Quebecois (BQ) 6% 8% 4% 4% 9% 5% 7% 8% 5% 4% - - - 100% - - - - -
* *ok * JKL* *k *k
28 12 16 9 7 12 14 3 6 5 - - - - 28 - - - -
The Green Party 3% 3% 4% 4% 2% 3% 9% 1% 2% 2% - - - - 100% - - - -
* *x * * ** **
10 6 4 3 5 3 5 1 1 - - - - - 10 - - -
The People's Party of Canada 1% 1% 1% 1% 2% * 2% 2% * 1% - - - - - 100% - - -
* *ok * * *k *k
879 434 431 223 291 366 146 212 299 222 297 408 84 52 28 10 - - -
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - -




Some people say that the Liberal government, now led by Prime Minister Mark Carney, has done a good job and deserves to be re-elected. Other people say that it is time tor another tederal party to take over and run the country. Which ot these statements Is closest to

your point of view?
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Total Male Female 18-34 35-54 <HS HS Post Sec | Univ Grad The The Liberal [ The New | The Bloc | The Green The Or some | Would not
Conservativ| Party Democratic| Quebecois Party People's |other party|vote/None/| Know/Not
e Party Party (NDP) (B8Q) Party of Would
Canada spoil ballot
A B C D E F G H
Base: All Respondents (unwtd) 1000 441 543 195 408 397 31 162 390 417 270 436 102 53 19 6 - 35 79
Base: All Respondents (wtd) 1000 478 506 273 340 387 146 276 335 243 297 408 84 52 28 10 - 46 75
469 219 245 116 143 211 53 112 156 147 5 371 27 20 13 - - 9 25
Carney Liberal government has done a good job and
deserves re-election 47% 46% 48% 42% 42% 54% 37% 41% 47% 61% 2% 91% 32% 38% 49% - - 19% 34%
cD *ok GH JLMR J* J* *k *k *k J*
531 259 261 157 197 176 93 164 179 96 292 38 58 33 14 10 - 37 49
Time for another federal party to take over 53% 54% 52% 58% 58% 6% 63% 59% 53% 39% 98% 9% 68% 62% 51% 100% - 81% 66%
E E *ok 1 | KLMR K* K* *k *k *k K*
1000 478 506 273 340 387 146 276 335 243 297 408 84 52 28 10 - 46 75
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100%




Which of the federal party leaders do you think would make the best Prime Minister of Canada?

I . . ..
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal [ The New | The Bloc | The Green The Or some | Would not
Conservativ| Party Democratic| Quebecois Party People's |other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H
Base: All Respondents (unwtd) 1000 441 543 195 408 397 31 162 390 417 270 436 102 53 19 6 - 35 79
Base: All Respondents (wtd) 1000 478 506 273 340 387 146 276 335 243 297 408 84 52 28 10 - 46 75
446 217 225 95 136 215 51 109 149 137 15 352 12 11 14 - - 12 30
Mark Carney 45% 45% 44% 35% 40% 56% 35% 39% 44% 57% 5% 86% 14% 20% 52% - - 26% 40%
CcD *x GH JLMR J* J* ** ** ** o*
324 174 142 91 110 123 61 100 112 51 265 7 2 13 - 4 - 17 17
Pierre Poilievre 32% 36% 28% 33% 32% 32% 42% 36% 33% 21% 89% 2% 2% 24% - 40% - 36% 23%
B *ok 1 | KLMR * KL* *k *k *k KL*
121 36 81 47 56 18 15 37 37 32 5 25 62 1 2 3 - 10 13
Jagmeet Singh 12% 8% 16% 17% 16% 5% 10% 13% 11% 13% 2% 6% 73% 2% 7% 30% - 21% 18%
A E E *x ) JKMR* * ** ** ** IKM*
47 26 20 13 15 18 7 13 18 8 2 12 1 25 - - - 2 4
Yves-Francois Blanchet 5% 5% 4% 5% 5% 5% 5% 5% 6% 3% 1% 3% 1% 48% - - - 5% 5%
*ok * JKLR* *k *k *k J*
34 13 21 14 13 7 - 10 16 8 8 4 2 3 6 3 - 5 4
Maxime Bernier 3% 3% 4% 5% 4% 2% - 4% 5% 3% 3% 1% 2% 6% 21% 30% - 11% 5%
*x * K* ** ** ** K*
29 11 17 13 10 6 12 7 3 7 1 9 7 - 5 - - * 7
Jonathan Pedneault 3% 2% 3% 5% 3% 1% 8% 3% 1% 3% * 2% 8% - 19% - - 1% 9%
*ok H JK* * *k *k *k JK*
1000 478 506 273 340 387 146 276 335 243 297 408 84 52 28 10 - 46 75
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100%




